EARAROBEEIERT — 2 N— IBISH —F

2017%7H8H (+) 3@+ =3H

N v>%25 #5 (2o

[($57E] Fikb

‘ [R1%] & ‘ [REBB] — | & (&) 14000 B

[A&4)] 1 7% :7,000,000 23 :2,800,000 ™ ~ 33 :1,800,000 ™ 43 :1,100,000 @ 5 j& :700,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- o2 | ERH 1:25.8 3-3 38.5| 81.1| 3 458 | A (ER)
11510 YT RIFZAHIL B 54.0 o ) | ) ¥5TLy k575747
LIZART—IYF— BINIANLHAL AR5
olglg|LFa/8—F i 2 shﬁ._O?A—D 1(;32/%9 2-2 38.7| 80.3 | 1 460 j_glgéﬁ;f%)
R:Xv—h77NAL BY—XA Ky T S 0% -n
= o2 | X 1:26.5 13-12 | 37.9| 74.7 | 4 484 | HAETEE (BR)
3012 ;(-7_1»_7; -7"D~9—' » 54.0 31/2) O hmEs "
INZ e SH ] 714 XZXEy MR &
R R RICEA # o2 E*’Eﬂgféi 1:26.5 1-1 30.4| 754 | 2 | 458 E%ﬁé? (®®)
: (7€ _ £
AZ:Stormy Atlantic £F:Amelia =) Alexander — Grove
o2 | K8 1:27.5 4-5 40.0| 67.4 | 9 432 | HAKERR (BER)
5|8|15 /’f'“t-')o_f"?: . L 54.0 ® () ) S ¥2y57
RIZXKT—NSF— BAE)—FvyT KAt4is
# o2 | AlRHE 1:27.8 12-9 39.4 | 64.3 | 11 440 |PRRE (FR)
617113 AHhAI—7 %53.0 2 _ BIRILE
L4 a B:YaTIyvR @ =) bacse
7 4| F=Fra—v H o2 ﬁ%?ﬁ— 1:(248).5 14-14 | 39.3| 58.2 | 5 | 468 ggg%?%)
L:d—IWR7Y2—b B:Y>Yv—32 b =) J—=HrTr—L
glgligl 7Z7FFH 1 0—X o2 | L 12 4-4  |41.3]58.5 | 10 | 460 gfé;lr;&kjé (%)
R:d—WKFPYa— B:OvI RIS Sl Dy et
FREHR : — E (ER)
74 4 2 Xg’fvg 1:29.2 6-6 41.3| 55.3 | 8 440 EEE: %
. (21/2) _ ITp=3
LHIR T TR B:FNXA =) ?%ﬁ}iﬂaw%
= = 42 | AEEN 1:29.8 14-15 | 40.6 | 49.4 | 6 472 | ALHEEA (ER)
2 /\77‘/% . 54.0 (3 1/2) -y | ) /—zenz
L:84¥>v bV B:Y7—Ta Rt e
2 —H—-F> o2 7J<E(l)1§iﬁ (1{330/.}) 10-9  |[41.8]49.2 | 12 | 456 :jiligéé (E®)
QivamFLhLT BaxILyw (R =s e
P Y- :30.1 10-12 | 41.9] 49.4 | 16 | 430 |/lFaE (=)
YL ELINS B #2 ) B8 g
. (INF) _ £ MR
R:TUE—Y BINT RIS S O | mEmss
s ' o2 | JIIARE 1:30.6 8-9 42.5| 46.7 | 15 454 | ERAE= (EX)
7{\7“»#7 VI - 54.0 ®) o) | W ¥ITLy k5T 5747
L:hxexy BH T T74— £ FX
T HALBLF 1:30.9 8-8 42.8| 45.1 | 7 478 | BHEZ (EX)
O—JLAu7 2 54.0 ST
. 9 _y | BRSH LY
LN=Y754 B:ANLXybO-7F @ =) J—HrTr—LA
x> oy—> o2 Eﬁ%ﬁ% 1:(382>.2 6-6 44.3139.0 | 13 | 454 gaiéﬂ (E®)
QT RIATT IR BEAUTT LT R T
. FILE—EB 1:32.8 16-16 | 41.7| 28.4 | 14 | 472 |ABR E#H)
I/ TaF # 2 54.0 S
: (31/2) | AR
LN—HNK B4 T4 —XL—FK =) BAT7— L
@ 71 L
) 50.6-38.7
NA>ZA L | 12.5-11.2-11.5-11.9-12.7-12.4-13.6
® I —F—@EBIERL
1T=7r=
230—7F—
Gol=5r= (¥1,9)10(15,16)-(12,14) (3,7) (5,6)13,2-(4,8) =11
40—F— (¥1,9)10-16,15(12,14)-7(13,3,6) (5,2) -4-8=11
[ N3
BB 10 530M 714K 9-10 430M e E 5-5 1,130M JEHE 2-9-10 3,270
8 B 10 1609 2-10 760M B = 9-10 1,120 B 10-9-2 15,420M
9 150 2-9 700 B H 10-9 2,230M
2 210M

ABICOVWTRDTEEERROODE. TR LIV,




